Instruction manuals can be downloaded from our company website. Please use the following for more detailed information. Y H X
https://global.yamaha-motor.com/business/robot/

Procedure to determine the regenerative unit quantity (Single-axis robot GX series)

The number of regenerative units to be connected to the is determined depending on the configuration of the single-axis robot

GX series operated by each m connected to this .
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When the following conditions are satisfied, one regenerative unit needed.

1.
2.

The total motor capacity of vertically installed single-axis robots is 400 W or more.

The vertically installed single-axis robots include the following.
- GX07: Lead is 5 mm and stroke is 1000 mm or more.

- GX10: Lead is 5 mm and stroke is 500 mm or more.

- GX10: Lead is 10 mm and stroke is 500 mm or more.

- GX10: Lead is 20 mm and stroke is 1200 mm or more.

The horizontally installed single-axis robots include the following.
- GX16: Lead is 20 mm and stroke is 500 to 800 mm.
- GX20: Lead is 20 mm and stroke is 550 to 800 mm.

The horizontally installed single-axis robots satisfy the following conditions.
- The total number of GX12, GX16, and GX20 robots is 3 or more.
- The total number of GX16 and GX20 robots is 2 or more.

When the single-axis robot with an operating duty (*) of 50% or more is used for 1 axis or more, two regenerative units
are needed.

1.

. The total number of vertically installed GX16 and GX20 robots is 4 axes or more.
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The total number of vertically installed GX10, GX12, GX16, and GX20 robots is 8 axes or more.

. The total number of vertically installed GX12, GX16, and GX20 robots is 7 axes or more.
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The vertically installed GX20 robots are connected to 4 axes or more.

. The total number of horizontally installed GX10, GX12, GX16, and GX20 robots is 6 axes or more.

* The operating duty is calculated by the following formula.

Operating duty = Total robot movement time + 1 cycle time x 100[%]

For the robot that reciprocates in one cycle, the total forward and backward movement time becomes the “total robot movement time”.
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